1400

1200

1000

800

600

400

200

liquid H2

= |iquid H2
— empty scaled
- subtracted

hh5

9C(p,d)8C

10 20 30

Entries 1153593
Mean 13.32
Std Dev 12.29
Underflow 1.108e+06
Overflow 0

Integral  4.604e+04

50

6_cm<60 deg.

liquid H2

35000

30000

25000

20000

15000

10000

5000

o
o

7Be(p,d)6Be

hh7

Entries  1.897218e+07
Mean 9.599
Std Dev 8.395

Underflow  1.818e+07

— empty scaled
— subtracted

Overflow (¢
Integral 7.934e+05
I
- liquid H2

10 20 30 40

50

liquid H2
hh6
4500 3 —_— IIqUId H2 Entries 2569912
C Mean 11.51
4000 — empty scaled |[soe 1025
C Underflow 2.464e+06
3500 — SU btraCted Overflow 0
r Integral  1.061e+05
3000F 8B(p,d)7B
2500
2000
1500
1000
500
b 1 I 11 1 1 I 11 1 1 I 11 1 1
—020 -10 0 10 20 30 40 50
liquid H2
- - . hh8
C 6Li (p ,d )5 Li Enties 3727014
| Mean 8.771
6000 - Std Dev 7.359
: Underflow 3.576e+06
r Overflow 0
5000 L Integral  1.514e+05
4000 — liquid H2
3000F — empty scaled
- - Subtracted
2000
1000
: 1 I 11 1 1 I 11 1 1 I | - I Lol L I Lol L L
—020 -10 0 10 20 30 40 50




	Contents
	Page 1


